
Foundation IGCSE (9 – 1) Revision Pack

Sets 




Name --------------------------------

Questions

Q1.
 

List the members of the set 


...........................................................

 
(Total for question = 2 marks)
 


Q2.
 

(a)  Complete the following sentence.
All the numbers in set C are ........................................................... of 3
(1)

(b)  List the members of the set

(i)  

...........................................................

(ii)  



...........................................................
(2)

(c)  Explain why 

.............................................................................................................................................
(1)
 
(Total for question = 4 marks)

Q3.
 


(a)  List the members of 


...........................................................
(1)

C is a set such that 
The set C has 4 members.
(b)  List the members of one possible set C


...........................................................
(2)

 
(Total for question = 3 marks)
 


Q4.


List the members of one possible set B.



...........................................................
(2)

List the members of one possible set C.



...........................................................
(1)

(Total for question = 3 marks)
Q5.

S = s, q, u, a, r, e
V = a, e, i, o, u
List the members of the set

(i) S ∩ V



...........................................................
(ii) S ∪ V



...........................................................

(Total for question = 2 marks)


Q6.

(a) A = {s, u, p, e, r
   B = {c, o, m, p, u, t, e, r

List the members of the set
 
 (i) A ∩ B
...........................................................
 (ii) A ∪ B
...........................................................
(2)
(b) X = prime numbers 

   Y = factors of 12

Is it true that X ∪ Y = ∅?
Tick () the appropriate box.

Explain your answer.
     
 ..............................................................................................................................................
(1)

(Total for question = 3 marks)



Q7.
 
Here is a Venn diagram.

(a)  Write down the numbers that are in the set
(i)  A



 ........................................................... 
(ii)  B ∪ C



 ........................................................... 
(2)
Brian writes down the statement A ∩ C = Ø
(b)  Is Brian's statement correct?
You must give a reason for your answer.
 ............................................................................................................................................. 
 ............................................................................................................................................. 
(1)
One of the numbers in the Venn diagram is picked at random.
(c)  Find the probability that this number is in set C′



 ........................................................... 
(2)
 
(Total for question = 5 marks)
 Q8.
 

(a)  List the members of the set
(i)  A ∩ B



 ........................................................... 
(ii)  A ∪ B



 ........................................................... 
(2)
The set C has 6 members and B ∩ C = ∅
(b)  List the members of set C.



 ........................................................... 
(2)
 
(Total for question = 4 marks)
 



Q9.
 

(a)  List the members of the set
(i)  P ∩ I
 ........................................................... 
(ii)  P ∪ I
 ........................................................... 
(2)

(b)  Is it true that I ∩ F = ∅ ?
Tick  the appropriate box.

Explain your answer.
 ............................................................................................................................................. 
(1)
 
(Total for question = 3 marks)
 


Q10.
 

List the members of the set
(i)  
 ........................................................... 
(ii)  
 ........................................................... 
 
(Total for question = 2 marks)
 



Q11.
 

(a)  List the members of the set P.



 ........................................................... 
(2)
(b)  List the members of the set Q.



 ........................................................... 
(1)
 
(Total for question = 3 marks)
 



Q12.
 
= 1, 2, 3, 4, 5, 6, 7, 8, 9, 10
A = even numbers
B = multiples of 3
(a)  List the members of set B.

..........................................................
(1)
(b)  Find A ∪ B.


..........................................................
(1)
(c)  Find A ∩ B.


..........................................................
(1)
x is a member of 
x ∈ B
x ∉ A
(d)  What are the possible values of x?




..........................................................
(2)
  
(Total for question = 5 marks)

Q13.
 
 = positive whole numbers less than 19
A = odd numbers
B = multiples of 5
C = multiples of 4
(a)  List the members of the set

(i)   A ∩ B

...........................................................

(ii)  BC
...........................................................
(2)

D = prime numbers
(b)  Is it true that B ∩ D = Ø ?
Tick () the appropriate box.


Explain your answer.
 ............................................................................................................................................. 
(1)

 
(Total for question = 3 marks)



Q14.
 
S = c, h, i, n, a                V = i, t, a, l, y
List the elements of the set
(i)  S  V





...........................................................

(ii)  S  V
...........................................................

  
(Total for question = 2 marks)




Q15.


(a) List the members of the set

(i)
............................................................
(ii)
............................................................
(2)
(b) (i) Is it true that  
Tick () the appropriate box.


(ii) Explain your answer.
      ..............................................................................................................................................
     
     ..............................................................................................................................................
(1)

(Total for question = 3 marks)



Q16.
 
 = 1, 2, 3, 4, 5, 6, 7, 8, 9
A = 1, 3, 5, 7
B = 2, 4, 6, 8

(a)   Explain why A ∩ B = ∅
 ............................................................................................................................................. 
 ............................................................................................................................................. 
(1)

x   and x ∉ A ∪ B
(b)   Write down the value of x.









...........................................................
(1)

A ∩ C = 3, 7, B ∩ C = 8 and A ∪ B ∪ C = 
(c)   List all the members of C.









...........................................................
(2)

(Total for Question is 4 marks)



Q17.
 
(a)   A = p, r, a, g, u, e
B = p, a, r, i, s
C = b, u, d, a, p, e, s, t

List the members of the set
(i)   A ∩ B

...........................................................

(ii)   B ∪ C



...........................................................
(2)

(b)   D = r, o, m, e
E = l, i, s, b, o, n
F = b, e, r, l, i, n

Put one of the letters D, E or F in the box below to make the statement correct.

Explain your answer.
 ............................................................................................................................................. 
(1)
(Total for Question is 3 marks)


Q18.
 
 = {positive whole numbers less than 13
A = {even numbers
B = {multiples of 3
C = {prime numbers

(a)  List the members of the set

(i)  A  B

...........................................................
(ii)  B  C

...........................................................
(2)

(b)  Is it true that 14  A?

Tick () the appropriate box.


Explain your answer.

 ............................................................................................................................................. 
(1)
  
(Total for Question is 3 marks)


Q19.
 
 = {even numbers
A = {factors of 8
B = {factors of 20

List the members of A  B





...........................................................
  
(Total for Question is 2 marks)



Q20.

 = {Students in Year 12}
G = {Students who study German}
F = {Students who study French}
M = {Students who study Maths}

(i) 

Use this information to write a statement about the students who study German 
in Year 12


      ..............................................................................................................................................
(ii) Preety is a student in Year 12

Preety ∉ F.

Use this information to write a statement about Preety.


      ..............................................................................................................................................
(2)

(b) 

List all the members of set B.











...........................................................
(2)

(Total for question is 4 marks)
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Q14.
 
The correct answer, unless clearly obtained by an incorrect method, should be taken to imply a correct method.

 


Q15.

 



Q16.
 



Q17.
 



Q18.




Q19.




Q20.




image7.jpeg




image8.jpeg




image9.jpeg
AuB




image10.jpeg




image11.jpeg
{even numbers}
A={2,4,6,8,10}

(a) Bis asetsuchthat AnB= {4,8}
‘The set B has 3 members.




image12.jpeg
(b) Cis a set such that AN C =0
The set C has 3 members.




image13.jpeg




image14.jpeg




image15.jpeg
Yes

No





image16.jpeg




image17.jpeg
{4.5.6.7.8.9.10.11. 12. 13. 14, 15}

4 = {multiples of 5}
B = {odd numbers}




image18.jpeg
P=ip.ortugal;
I=fitaly




image19.jpeg




image20.jpeg




image21.jpeg
Yes





image22.jpeg




image23.jpeg




image24.jpeg




image25.jpeg
PuQ={ab,cde.f}
PO ={c}
aeP, ceQ, feP, [bdlnQ=0




image26.jpeg




image27.jpeg




image28.jpeg




image29.jpeg




image30.jpeg




image31.jpeg




image32.jpeg
Yes





image33.jpeg




image34.jpeg




image35.jpeg




image36.jpeg




image1.png
GATEWAYS

SCHOOL




image37.jpeg
=12,3,4,5,6,7,8,9, 10, 11, 12}
A = {odd numbers}
P = {prime numbers}




image38.jpeg
ANP,




image39.jpeg
AUP.




image40.jpeg
8¢ A7




image41.jpeg




image42.jpeg
[lyes []No




image43.jpeg




image44.jpeg




image45.jpeg




image46.jpeg




image2.jpeg
{whole numbers}
4 = {factors of 100}
B = {multiples of 5}




image47.jpeg




image48.jpeg




image49.jpeg




image50.jpeg




image51.jpeg




image52.jpeg




image53.jpeg
No





image54.jpeg




image55.jpeg




image56.jpeg




image3.jpeg




image57.jpeg




image58.jpeg
GNnM=0




image59.jpeg
A=1{2,4,6,8,10}
AnB=1{2,4)
AUB=1{1,2,3,4,6,8, 10}




image60.jpeg
Question Working Answer | Mark Notes
5.10.20.25.| 2 Tfnot B2 then
50,100

BI for at least 3 correct values and no
incorrect values or all correct values
with only 1 incorrect value

Total 2 marks





image61.jpeg
common

Q ‘Working Answer Mark Notes
a ‘multiples 1 BL
bi 6,12 1 Bl cao
bii 2,3,4689,10,12,14 1 Bl  cao
3 10 members in 1 Bl accept.cg

members of 4 are
even and members
of B are odd: no
numbers the same

Total 4 marks





image62.jpeg
Question ‘Working Answer | Mark Notes

12345679 | 1 |Bl norepeats

b g 45.7.8

i

for 4.5, and any two of
7.8.9.10

If not B2 then BI for 4,5
or 4.5 and any one or
two other mumbers from
the universal set or
45.7.8,9.100r
7.8.9.100r

Venn diagram with 4,5
in intersection and any
two correct numbers (g
810)inC

Total 3 marks





image63.jpeg
Working Answer

Mark

Notes

@

4,8 & one even number other
than 2, 6 or 10

Bl ford, Sor

ford, 8 and one
odd mumber or

for 4,8 and more
than one other even
mumber (any extra
even mumbers must
not be 2 or 6 or 10)
Accept O as an
even number

®)

3 even numbers other than 2, 4, 6.
Sor10egl2 14,16

BI

Total 3 marks.





image64.jpeg
0] U3 ¢ BT [Any order. Brackets and
@] S a1, 3810 BT BO '3 or [commas not necessary
e’ o'y’
repeated

Total 2 marks|





image65.jpeg
Question] _ Working Answer | Mark Notes
[OX0] Up.er| 1 |BL ‘Any order.
@ scomp | 1 |BL Brackets and
(i) uter BOif'p’ or | commas not
' or'e’or | necessary
v’ repeated
® no”
B identifies the element 2
2(r3)are| 1 orzor2and 3
prime, 2 (or eg xny={2.3}
3) belongs to dependent on “No” box
X&vVetc

ticked or "No" stated
in answer with neither
box ticked

Total 3 marks





image66.jpeg
‘Question ‘Working Answer [ Mark Notes
a1 1.2.3.4.6.12 1 Bl cao
ai LI5S, 1 Bl cao
10,11
b Yeswith | 1 | BI e no numbers i both 4 and Cor 4
reason and C do not intersect or A and C do not
overlap or A and C are mutually
exclusive
0 Y
N okl for 12-2 (=10) ar % witha < 12 or
10 and 12 used with incorrect notation
Eg10:12
Al

for %oe or083(3..) or83(3.)%





image4.jpeg
12.4,6.8.10. 12, 14§
{1.3.5.7.9, 11, 13}

£3.6.9. 12}

A
B

c=




image67.jpeg
Answer Mark Notes
515 1 [B1
5.7.9.1011,13,15 | 1 [BI
65,1012, 14 2 | B2|B2forall corect and

none incorrect.
If not B2 then B1 for
4 or more correct and
no more than 1
incorrect.

Total 4 marks





image68.jpeg
‘Working Answer | Mark Notes
tal 1| Bl
@ portug | 1 | Bl Norepeas
aliy
® Nowithreason | 1 | BI eg. ‘ais in bofh sets or

they share a member’
oe

(but not
‘memberg/letiers)

Total 3 ma





image69.jpeg
Question Answer Notes
[6) 3.5.7 BI_Ignore brackets
) 2.3,5.7.9 BI_Ignore brackets

Total 2 marks





image70.jpeg
Question

‘Working

Answer

Mark

Notes

(@

abde

abde

B1 for

aeor
ab.dorbdeor
abeoradeor
abede or abdef
or a Venn diagram with 2
c.e. feomectly shown

®)

BI

Tof

marks





image71.jpeg
Ques Answer Mark | Notes

a I |Bl condone {3.6.9}

b 1 | Bl condone omission of brackets
3 T |B1 condone omission of brackets
a 2

B2 cao
(B1 for one of 3. 9 with no incorrect numbers or 3. 6. 9)

Total 5§ marks





image72.jpeg
Q Answer Mark Notes
@6 515 2 _[Bl

(6] 4.5.8.10.12.15.16 Bl
® No ticked and 5 is a prime number | 1 | Bl oe explanation

(and a mulfiple of 5)

eg. 5 is in both sets

Total 3 marks





image73.jpeg
Question | Working Answer Mark Notes
6] fa) Bl | Brackets and
@ fhinatly | 2 [BI|commasnot

needed.
Do not allow
repetitions,

Total 2 marks





image74.jpeg
Working Answer  [Mark] Notes
@0 3,57, 11 2 |81 a0
W) 2,3,5,7, BT cao ':rnauctket
9,1 (BOif3or | pooncea
Sor7or i1 |
repeated)
1) | Ves and gives evther a specific T[T

explanation
eg 8 isnot an odd number
even number

or a general explanation which shows
understanding of the symbolz eg 8 is
not a member of A, 8 does not belong

to the set of odd number

r, 8 s an

s

Total 3 marks





image75.jpeg
Question | Working Answer Mark Notes
@ e.g. There are no mumbers which | 1| BI _for a statement which indicates correct
are in both 4 and B. ‘meanings of intersection and empty set.
g Ais odd, B s even
(®) 9 1 B1
© 3.7.8.9 2 | B2 Awad Bl for any thrce corect with oo

exiras or all four correct with only one
extra. Allow in any order, with or
without brackets, ignore repeas.

Total 4 marks





image76.jpeg
‘Question ‘Working Answer Mark Notes
@0 . ra)| 1| Bl Withhold marks for repeats
®arisbudet| 1 [Bl  Wihold marks for repeats
(if)
® E
1o letters common to Prague Bl deponEinbox
and Lisbon Accept general reasons
e.g.“no letters common to sets
Aand E
or “they share no common
letters
1

or “no inersection (beween A
and EY

or “no letters the same

or “no letters in A are in E’

Total 3 marks





image5.jpeg
A~ C




image77.jpeg
Question |Working|  Answer Mark Notes
@@ 612] 1 [BI
(@) (i) 2,3.5.6.7,9,| 1 |Bl  Withhold markif any
11,12 ‘numbers repeated.
®) No BI  Dependent on “No” box
1 bemng ticked.
e (idea that 14 does not
only numbers less belong to £).

than 13

Total 3 maj





image78.jpeg
Question

Working

Answer

Naotes

2,4

B2 -1 foreeco

Total 2 marks





image79.jpeg
Answer Mark Notes
o101 | Doss not study Maths T [81 Acceptgeneralanswers (e g nostudentbelongs imnboth
No student tudies both) German and Maths sets).
Students who study German donotstudy Maths
e
) | (Preety) dossnotstudy French T |81 Acceptshe /he n place of reety or omission of name.
(Preety)isnota memberof (set) F Penalse extraincorrectstatements .. Preetystudies
Mathsand Germanbutnot French)
[0} 1234] 7 |52 (81 forany3 correct with no repetitionsoradditions]
T





image6.jpeg
A O




